
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

Drolet Classic Parts List 

# ITEM # DESCRIPTION QTY/UNIT 

1 PL55101 DECORATIVE BOTTOM DOOR TRIM 1 

2 PL55102 DECORATIVE TOP DOOR TRIM 1 

3 30208 WASHER ID 5/32" X OD 7/16" 4 

4 30417 BLACK HEX NUT #8-32 4 

5 AC07867 1/2 " CHROME PLATED COIL HANDLE 1 

6 SE24107-02 REMPLACEMENT DOOR WITH GASKET WITHOUT 
GLASS AND HANDLE 

1 

7 AC09171 REMPLACEMENT HANDLE AND LATCH KIT 1 

8 30205 ZINC WASHER ID 13/32" X OD 13/16" 3 

9 30533 LATCH KEY PATH PIN 1 

10 30033 STEEL DOOR LATCH 1 

11 30224 LOCKNUT 3/8"-16 HEX 1 

12 AC06500 SILICONE AND 5/8" X 8' BLACK GASKET KIT 1 

13 30123 SCREW #8 - 32 X 5/8'' PAN QUADREX ZINC 2 

14 30169 DOOR HINGE PIN 5/16'' DIA. X 1 3/4" LONG 2 

15 30055 HINGE PIN RETAINING RING 5/16" ID X 0.512" OD 2 

16 SE55103 REMPLACEMENT GLASS WITH GASKET 10 3/16" X 17 1/8" 1 

17 AC06400 BLACK SELF-ADHESIVE GLASS GASKET KIT (6') 1 

18 PL55041 GLASS RETAINER FRAME 2 

19 SE53585 GLASS RETAINER WITH SCREW KIT (10 PER KIT) 1 

20 30124 SCREW #8 - 32 X 5/16'' TRUSS QUADREX ZINC 8 

21 30060 THREAD-CUTTING SCREW 1/4-20 X 1/2" F HEX STEEL SLOT 
WASHER C102 ZINC

7 

22 PL06703-01 NICKEL DECORATIVE ASH SHELF TRIM 1 

23 PL55076 1 

24 30131 BLACK METAL SCREW #10 X 1/2" TYPE "A" PAN QUADREX 4 

25 99999 BUILD TO ORDER 1 

26 99999 BUILD TO ORDER 1 

27 99999 BUILD TO ORDER 1 

28 SE47076 ASH DRAWER 1 

29 28061 CHROME ASH DRAWER HANDLE 1 

30 AC01337 FRESH AIR ADAPTER 1 

31 99999 BUILD TO ORDER 1 

32 AC07863 1/4 " CHROME PLATED LONG COIL HANDLE 1 

33 30125 MECHANICAL SCREW #8 X 1 1/4" QUADREX ZINC 2 

https://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

34 PL55077  1 

35 30094 HEX SCREW WASHER HEAD 1/4-20 X 3/4" F ZINC TYPE 2 

36 30428 BUSHING 2 

37 SE63057  1 

38 AC03095 ULTRA-QUIET 130 CFM BLOWER WITH VARIABLE SPEED CONTROL 1 

39 60013 POWER CORD 96" X 18-3 1 

40 44070 CROSSFLOW BLOWER 115V-60HZ-56W (B) 1 

41 44080 RHEOSTAT WITH NUT 1 

42 44087 RHEOSTAT NUT 1 

43 44085 RHEOSTAT KNOB 1 

44 AC05530 THERMODISC KIT 1 

45 44046 THERMODISC F110-20F 1 

46 SE45626 CLASSIC MANUAL KIT 1 

47 29015 4'' X 9'' X 1 1/4'' REFRACTORY BRICK 9 

48 PL36074 4" X 2 1/2" X 1 1/4'' REFRACTORY BRICK 1 

49 SE16059 ASH DUMP PLUG 1 

50 PL36049 4 1/2" X 4 1/2'' X 1 1/4'' REFRACTORY BRICK 1 

51 PL36024 1 7/8" X 4 1/2" X 1 1/4" REFRACTORY BRICK 1 

52 29010 4 1/2" X 9" X 1 1/4" REFRACTORY BRICK 10 

53 PL55095 SECONDARY AIR TUBE 4 

54 21216 VERMICULITE BAFFLE CENTURY 90000161 1 

 

https://www.woodmanspartsplus.com/

